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List a]l transformations of the parent functions: period, amplitude (or vertical stretch/shrink), vertical shift,
horizontal shift, and reflections for the following: (make sure to include if it is a stretch or shrink
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No need for a calculator here! Find the exact value for each of the following expressions.
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Sketch at least one period of the following:
18. y = -Esin e (x — n)) + 2 19. y = —3sec(2x)
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20.y = 2cos(2(x —m)) + 1

Amplitude: 7

Period: _%_L =
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Vertical Translation: h?\ Vertical Translation: Nﬂ{K—

Give the equation of each of the following: each horizontal tick mark is g and each vertical is1.
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